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[1] a ����������� x � 2 � ���
y = (a2 + 1)x2 + (2a − 3)x − 3
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[1] k ���)������� x ��§�¨ A, B, Q �
A = x4 + 2x3 − 5x2 − 5x − 4k2 + 2k + 10

B = x2 + x − 2k − 3

Q = x2 + x + 2k − 3

��%�&�'��$o�\�� R = A − BQ ��©3ª«'�-�����.
(1) R = x + 2k + / �(S)&('<;)=(� B � R

06¬ q$= �6.$��­
8 x − 9 k, ® 2 8 :

k2 − D ��S�&�'

(2) B * R
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1© ´�µ�¶$P�·�¸ 0�1 &
2© ´�µ�·$¸ 0�1 &�*���¶�P$·�¸ 0 8�S�h
3© ¶�P�·$¸ 0�1 &�*���´�µ$·�¸ 0 8�S�h
4© ´�µ�·$¸ 0 ~�¶�P�·�¸ 0 ~�S�h

[2] ¿�À�Á ABCD 8�� � O \�Â�Ã����
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-�- 0 8(����� AD �6��� CF * ��7 0 S�h��$����8�9�g�z�Q�R '
(1) � G ��":$@�j%<&�&:'�(�*<\NQ 2 4DEF * 4ABC \�(4qÓ=N��%
&N��� D * A \�(<&)�MÑ$nNo AG= / 9 , �<;Mª CG=
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D0�1 &�'�=�9�\ G 8 E 0 S�ª(g�8�S�o�S�h$' (

E \
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1© ��� AC �6��� DF ��7��
2© ��P AC ��>�� 2 Ï�P����6��P DF ��>�� 2 Ï�P�����7��
3© ��� AD �6��� CF ��7��
4© ��P AD �6>�� 2 Ï�P����6��P CF ��>�� 2 Ï�P�� ��7��

(2) ?<\6� G * E 0)1 &N�j� AG= / 9 , CG=
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B, C � 1 &�>�?�Â���§��Õ����g�� 2 ���.C�¨ X2 + BX + C = 0 \
�
h�g�8D9�&('M����E�F(!�"�G$8��)H B, C \����T� -�� 2 ����C)¨�*(§
� �
1 �<~I�3�(.M8(�²�$�
1<�
J�+3����~(=$S^h3�(.$8(�LK §)� �
1NSN�IM
�NJ.+W%L&�~�� 0²1 &�'�=WÑL� � INT(X) 8 X ��-O9WS�h AWI ��§W�
��P�9$&��(����% &�'<;�=�� K, L, M , N \�8�� K 5 L ©�QT_ M 5 N

����=�%�§�� ��Q�R�%�&�~�����% &�'
100 INPUT "K=";K

110 INPUT "L=";L

120 INPUT "M=";M

130 INPUT "N=";N

140 S=0

150 FOR B=K TO L

160 FOR C=M to N

170 PRINT "B=";B, "C=";C

180 D=B*B-4*C

190 IF D / 0 THEN GOTO 9
200 E=(-B+SQR(D))/2

210 IF E-INT(E)

:
0 THEN GOTO D

220 S=S+1

230 PRINT " 1 1=";E, " 1 2=";E-SQR(D)

240 GOTO
E

250 PRINT " §�����1�S � "
260 NEXT C

270 NEXT B

280 PRINT S

290 END
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